
T01 Panel component
瑞德科诺

RDEKON>O

3U Panel component

Panel profilel

之M25 EMC totile
Cpte serws Mal dree  ew Uapedfpanels prhrt EMC gashet Boed tracket PCBBoand

0D③ 0p ④ 6.OB×HP-0.3 五08×F-0.1 5.U8×HP-Q

和即
IProfile ll Profile  Profile

Delivery Comprises(kit)

眼即m Name Qty Order no Description
T01 Bottom 1 1002013 Installin the bottom panel
Metal sleeve Plasic3 1014002
Metal sleeve 3 1014003 Rrasf
U-shaped panels Front anodised rear conductive
EMC textile gasket 1 1008038 EMC textile gaskef

16n5⋯ Captive screws 4 1004023 Crosy'captive screws M2.5×12 5tainless steel
T01 bat Neying/Coding PCB Set crew Keying/Coding 3 Plastic1009010

景 EMC gasket 1 1008015 EMC gasket
PCB Set screw 3 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

Set screw 1 1004011 Pan head Pozidrive c/skscrew M2.5×6 Stainless steel

Printed board bracket 1 1015004 Printed board bracket,Die-cast zine

VERO 2.5

□

Effective opering areahegns相朝50
Open

v ?

习

9 上

酬5

的 Efective opening area
Heh L1m L2am L3am L4mn L5mm

3t 128.7 115.4 122.5 88.9 81.7

9的配陋 40 173.15 159.85 166.95 133.35 126.15

60 262.05 248.75 255.85 222.25 215.05
90 395.4 382.1 389.2 355.6 348.4

172



3U Panel component

T01 Panel component
瑞德科诺

RDEKONO
EKBEG PRO Series Subracks

Fo1 Handleiorder information
Width IPanel ll Panel Ill Panel EMC gasket EMC textile gasket Black handle Grey handle Order no

hes s4HP 1 1 1 130400100
4HP 1 1 1 230400100
4HP 1 1 1 330400100
4HP 1 1 1 330400101 specfication4HP 1 1 1 130400110
4HP 1 1 1 230400110
4HP 1 1 1 330400110
4HP 1 1 1 330400111 specicaton5HP 1 1 1 130500100
5HP 1 1 1 230500100
5HP 1 1 1 330500100
5HP 1 1 330500101
5HP 1 1 1 130500110
5HP 1 1 2205001101

16.08
5HP 1 1 1 330500110

bnsa鸭5HP 1 1 330500111
6HP 1 1 130600100
6HP 1 1 230600100
6HP 1 1 1 330600100 dngmund6HP 1 1 330600101
6HP 1 130600110
6HP 230600110

的端物6HP 3306001101 1 1

6HP 3306001111
7HP 1 1 130700100
7HP 1 1 230700100
7HP pnaatnf1 1 1 330700100
7HP 1 1 1 330700101
7HP 1 1 1 130700110

hreqns⋯u鸭7HP 1 1 2307001101
7HP 1 1 1 330700110 853
7HP 1 1 1 330700111
8HP 1 1 1 130800100
8HP 230800100
8HP 1 1 330800100
8HP 330800101
8HP 1 1 130800110

uoddis8HP 230800110 Rugged8HP 1 3308001101
8HP 330800111 s10HP 1310001001
10HP 231000100
10HP 331000100
10HP 331000101
10HP 1 131000110 subeph10HP 231000110
10HP 1 1 1 331000110
10HP 331000111
12HP 1 1 131200100
12HP 2312001001 1
12HP 1 1 1 331200100

d⋯7612HP 3312001011 1 Order no12HP 1 1 1 131200110
12HP 231200110
12HP 1 1 1 331200110
12HP 331200111

173



瑞德科诺

T01 Panel component RDEKON>O
hxhns⋯我安6户和 3U Panel component

EK+AEG+PRO Toi offset Handle orderinformation
Width I Panel ll Panel Ill Panel EMC gasket EMCtextile gasket Black handle Grey handle Order no

a⋯xv⋯⋯6p4 4HP 1 1 1 130410100
4HP 1 1 1 230410100
4HP 1 1 1 330410100
4HP 1 1 1 330410101
4HP 1 1 1 130410110
4HP 1 1 230410110
4HP 1 1 1 330410110
4HP 1 1 1 330410111

酒心 5HP 1 1 1 130510100
5HP 1 1 230510100
5HP 1 1 1 330510100
5HP02.61 1 1 3305101011
5HP 1 1 1 130510110
5HP 1 1 230510110
5HP 1 1 1 330510110
5HP 330510111SNCF 1 1 1
6HP 1 1 130610100
6HP 1 230610100
6HP 1 1 330610100
6HP 1 1 1 330610101
6HP 1 1 1306101101
6HP 2306101101
6HP 1 1 330610110
6HP 330610111
7HP 1 1 130710100
7HP 1 230710100
7HP 1 1 1 330710100
7HP 1 1 1 330710101
7HP 1 1 1 130710110
7HP 1 1 230710110

物0 7HP 1 1 1 330710110
7HP 1 1 1 330710111
8HP 1 1 1 130810100
8HP 230810100ae 8HP 1 1 1 330810100
8HP 1 1 330810101
8HP 1 1308101101

anp 8HP 230810110
8HP 1 3308101101

3308101118HP 1

10HP 1310101001 1

2 10HP 231010100
10HP 3310101001
10HP 331010101

Subracks 10HP 1 1 1 131010110
10HP 231010110
10HP 3310101101 1 1
10HP 331010111
12HP 1 1 1 131210100
12HP 23121010011
12HP 1 1 1 331210100
12HP 331210101onnn 1 1
12HP 1 1 1 131210110
12HP 2312101101
12HP 1 1 1 331210110
12HP 3312101111 1

174



T01 Panel component
瑞德科诺

RDEKON>O

6U Panel component

M25 EuCtertie Panel profileCamhe scens Tl Harde Tup Wesl sheoe Ushapd prels aet EK psket PCB Boand

之

6.OB×HP-0.3 508×P-0.1 5.0B×IP-0.3

1Profile l Profile Ill Profile

Delivery Comprises(kit)

n6Name Qty Order no Description
T01 Top 1 1002012 Install in the top pane
TO1 Bottom 1002013 Installin the bottom panel
Metal sleeve 2 1014002 Plastic

t6.akMetal sleeve 1014003 Brass
U-shaped panels / Front anodised rear conductive
EMCtextilegasket 1 1008038 EMC textile gaske
Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel SNCFKeying/Coding 6 1009010 Plastic

吸
EMC gasket 1008015 EMC gasket
PCB Setscrew Pan head Pozidrive c/sk screw M2,5×6 Stainless steel4 1004004

T0l bottom Neying/Coding CBSt rw

T01 Handle

A80
Locking

Eective opening area sonasabedhCASE

TypeA

密Open

perqnsatss2
sqnk

Efective opening area
Helght L.Imm 12m L3m 14m 15m

128.7 115.4 122.5 88.9 81.7 and page Table41 173.15 159,85 166.9 133.35 126.15

0 262.05 248.75 255.85 222.25 215.05

t 395,4 382.1 355.6389.2 348.4

175



oad634a
T01 Panel component

瑞德科诺

RDEKON>O

6U Panel component

To1 Handleiorder infomation
WidthI Panel ll Panel  Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 160400100
4HP 1 1 1 260400100

hana

色

4HP 1 1 1 360400100
4HP 1 11 360400101
4HP 1 1 1 160400110
4HP 1 1 2604001101

4HP 1 1 1 360400110
4HP 1 1 3604001111
5HP 1 1 1 160500100
5HP 1 1 1 260500100
5HP 1 1 1 360500100

dn26t

景

yao

5HP 1 1 1 360500101
5HP 1 1 1 160500110
5HP 2605001101 1 1

5HP 3605001101 1 1
3605001115HP 1 1 1

6HP 1 1 1 160600100
6HP 1 260600100
6HP 1 1 1 360600100
6HP 360600101
6HP 1 1606001101
6HP 1 260600110
6HP 3606001101 1
6HP 360600111
7HP 1 1 160700100
7HP 1 2607001001
7HP 1 1 1 360700100
7HP 3607001011 1

7HP 1 1 1 160700110
7HP 1 1 1 260700110

50 7HP 1 1 1 360700110
7HP 1 1 1 360700111
8HP 1 1608001001 1
8HP 2608001001 14 8HP 1 1 360800100
8HP 3608001011
8HP 160800110
8HP 260800110
8HP 1 360800110
8HP 360800111
10HP 1610001001 1

墨 10HP 261000100
10HP 361000100
10HP 361000101
10HP 1 1610001101
10HP 2610001101
10HP 3610001101 1
10HP 3610001110 12HP 1 1612001001 1
12HP 2612001001 1
12HP 1 1 1 361200100

和的飞眼 12HP 361200101onnn 1
12HP 1 1 1612001101
12HP 2612001101
12HP 1 1 1 361200110
12HP 1 361200111

176



瑞德科诺
T01 Panel component RDEKONO

N6p406U Panel component

要古酬0Toioffsetihandle order infomation
Width IPanel ll Panel Il Panel EMC gasket EMC textile gasket Black handle Grey handle Order no

机明6pn4HP 1 1 1 160410100
4HP 1 1 1 260410100
4HP 360410100
4HP 1 1 1 360410101 ao4HP 1 1 1 160410110 Handk4HP 1 1 260410110
4HP 1 1 1 360410110
4HP
5HP 1

1
1 1

1 360410111
160510100

5HP 1 1 260510100
5HP 1 1 1 360510100
5HP 1 1 1 360510101
5HP 1 1 1 160510110
5HP 2605101101

中⋯aoaemg
400.61

5HP 1 1 360510110
5HP 1 1 360510111
6HP 1 1 1 160610100
6HP 1 2606101001
6HP 1 1 3606101001
6HP 1 1 1 360610101
6HP 1 1 1 160610110
6HP 1 2606101101

6HP 1 1 1 360610110
6HP 1 1 360610111
7HP 160710100
7HP 2607101001
7HP 1 1 1 360710100
7HP 1 1 360710101
7HP 1 1 1 160710110
7HP 1 1 1 260710110
7HP 360710110
7HP 1 1 1 360710111
8HP 1 1 1 160810100
8HP 2608101001 1
8HP
8HP 1 1

360810100
360810101

SNCF

dng,inunh
量

Protecive
s0

hpeqnsnres1v
8HP 1 1 1608101101
8HP 260810110
8HP 1 1 3608101101
8HP 360810111

side panelhxqns
10HP 1 161010100
10HP 261010100
10HP 3610101001

10HP 361010101
10HP 1610101101
10HP 261010110
10HP 3610101101 1

10HP 361010111
12HP 1 1 1 161210100
12HP 2612101001

2

snqedks

12HP 361210100
12HP 1 1 1 361210101
12HP 1 1 1 161210110
12HP 1 1 261210110
12HP 1 1 1 361210110
12HP 1 1 361210111

177



Shielted

瑞德科诺

86pd
EK+BEG+PRO

Series Subracks
mdac⋯如r⋯
叫叫的

5⋯⋯⋯1624

Serles Subracks影
coqns gnk
04

Protectve
03

ssne和1v
Subracksuaas
州5

Accessorles
的

and pege Table

T02 Panel component RDEKON>O

3U Panel component

Panel profile

M25 EMC testile
Mealsleeve Sat sow U-tupedp nes glet EC pziet Board brxketCapthe xrews PCB Baad §

5.0R×HP-0 0K×I 5.as×IHP-0.3

T]

0

PCB Set xrew

I Profile ll Profile I Profile

Delivery Comprises(kit)

Name Qty Order no Description
T02 Bottom 1 1002017 Install in the bottom panel
Metal sleeve 3 1014002 Plastic

Metal sleeve 3 1014003 Brass
U-shaped panels Front anodi sed rear conductive

EMC textile gasket 1 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel

Keying/Coding 3 1009010 Plastic

EMCgasket 1 1008015 EMC gasket

PCB Setscrew 3 1004004 Pan head Pozidnive c/skscrew M25×6 Stainless steel
Set screw 1 1004011 Pan head Poidnive c/skscrew M2.5×6 Stainless steel
Printed board bracket 1 1015004 Printed board bracket,Die- cast zinc

2.6
2

O

Open

●

◎

叽

Effective opening areea

生

Efietive openingarea
Height LImm 12nn 1.3mn LAnm L.5en
30 128.7 115.4 122.5 88,9 81.7
4 173.15 159.85 166.95 133.35 126.15

6U 262,05 218.75 255.85 222.25 215.05
91 395.4 382.1 389.2 355.6 348.4

178



瑞德科诺
T02 Panel component RDEKON>O

水8的83U Panel component

通To2 Handle order information
Width I Panel ll Panel  Panel EMC gasket EMC textile gasket Black handle Grey handle Order no susnex4HP 1 1 1 130400200
4HP 1 1 1 230400200
4HP 330400200
4HP 1 1 1 330400201
4HP 1 1 1 130400210
4HP 1 1 1 230400210
4HP 1 330400210
4HP 1 1 1 330400211

尊⋯⋯5HP 1 1 1 130500200
5HP 2305002001

5HP 1 1 1 330500200
5HP 1 1 1 330500201 dn.st5HP 1 1 1 130500210
5HP 1 1 230500210
5HP 1 1 1 330500210

英5HP 1 3305002111 SNCF6HP 1 1 1 130600200
6HP 1 230600200
6HP 1 1 330600200 pn-nund1

6HP 1 330600201
6HP 1 1 1 130600210
6HP 1 2306002101

Series Subrackes6HP 1 1 1 330600210
星班6HP 330600211

7HP 130700200
7HP 2307002001 1

deicno7HP 1 1 1 330700200
7HP 3307002011 1
7HP 130700210

selsnbnd7HP 1 1 1 230700210
7HP 1 1 1 330700210 50
7HP 1 1 1 330700211
8HP 1 1 1 130800200

Seret Subracks8HP 1 1 1 230800200 T8HP 330800200
8HP 3308002011 1

8HP 1 1 1 130800210
Side panelsu6kh8HP 230800210

8HP 1 1 1 330800210
8HP 330800211

Series Subradks10HP 1 131000200
10HP 231000200 2
10HP 331000200
10HP 331000201
10HP 1310002101 1 Subracks10HP 1 231000210
10HP 3310002101 1 1
10HP 3310002111

12HP 1 1 131200200 0812HP 1 1 231200200
12HP 331200200

and page Table12HP 1 3312002011 1 Order no.12HP 1312002101 1 1
12HP 1 1 231200210
12HP 3312002101 1 1

33120021112HP 1 1

179



瑞德科诺

Series Submceoap6248
T02 Panel component

3U Panel component

RDEKONO

要6*0 To2/offsetHandle orderinformation

WidthI Panel ll PanelII Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 130410200

善和moHandie

ipe⋯⋯⋯toGuide rall

4HP 1 1 1 230410200
4HP 1 1 1 330410200
4HP 1 1 1 330410201

4HP 1 1 1 130410210
4HP 1 1 1 230410210
4HP 11 1 330410210
4HP 1 1 1 330410211
5HP 1 1 1 130510200
5HP 2305102001 1 1
5HP 1 1 1 330510200
5HP 1 1 1 330510201

5HP 1 1 1 130510210
5HP 1 1 1 230510210

Senes Subracks42

量

5HP 1 1 1 330510210
5HP
6HP
6HP
6HP
6HP
6HP
6HP
6HP
6HP

7HP

1

1

1

1

1

1

1
1

1
1

1
1
1

1
1
1

1

1

1

1

1
1
1
1

1

1

1
1

1
1

330510211

130610200
230610200
330610200
330610201
130610210
230610210

330610210
330610211
130710200

pa 7HP 1 1 1 230710200
7HP 1 1 1 330710200
7HP 1 1 1 330710201
7HP 1 1 1 130710210

Seres Subracks 7HP 1 1 1 230710210
3 7HP 1 1 1 330710210
7HP 1 1 1 330710211
8HP 1 130810200
8HP 1 1 1 230810200TypeA 8HP 1 1 1 330810200
8HP 1 1 1 330810201

指

5不

⋯⋯⋯⋯6

8HP 130810210
8HP 1 1 2308102101
8HP 330810210
8HP 1 1 1 330810211
10HP 1 1 1 131010200
10HP 1 1 231010200
10HP 1 1 3310102001

33101020110HP 1
10HP 1 1 1 131010210

23101021010HP 1 1
10HP 1 1 1 331010210
10HP 1 1 1 331010211
12HP 1 1 1 131210200
12HP 1 1 1 231210200

and page Table
12HP
12HP

1
1

1
1

1
1

331210200
331210201

12HP 1 1 1 131210210
12HP 2312102101 1 1

12HP 3312102101 1 1
12HP 1 331210211

180



6U Panel component

T02 Panel component
瑞德科诺

RDEKON>O

器的⋯0Saries Subrx
M25 EMCmble

Captie xes Ti Hande Top Mealslesve U-shaped pones eshet
0□ ④

T02 Botom Keyingtodig

BNC gslet PCa Board

PCBSet sces

Panel profile

5.0B×IHP-D.3 5.08×1R-0.3 5.08×IP-0.3

I Profile l Profile II Profile

Delivery Comprises(kit)

Name Qty Order no Description
TD2 Top 1 1002016 Install in the top panel

T02 Bottom 1002017 Install in the bottom panel
Metal sleeve 2 1014002 Plastic
Metalsleeve 2 1014003 Brass
U-shaped panek 1 Front anodised rear conductive

EMC textle gasket 1 1008038 EMC textile gasket
Captive screws 4 1004023 Crosscaptive screws M2.5×12 Stainless steel
Keying/Coding 10090106 Plastic

EMC gasket 1 1008015 EMC gasket

PCB Set screw 41004004 Pan head Pozidrivec/sk screw M2.5×6 Stainless steel

T02 Handle

Locking

Open

Effective opening area

几

Efective opening ares
Heg! Lim 12m L3m L4m L5m
30 128.70 102.00 122.50 88.90 84.65

173.15 146.45 166.95 133.35 126.1
6t 262.05 235.35 256.85 222.25 215
90 395.40 368.70 389.20 355.60 348.35

lnnd

1920

herqns⋯⋯⋯sas

sa s⋯
Side pane
2

言⋯⋯根

的明

181



Series SubraceE3360
T02 Panel component

6U Panel component

To2 Handle orderinformation

瑞德科诺

RDEKONO

Width I Panel ll Panel IIl Panel EMC gasket EMC textile gasket Black handle Grey handle Order no

88N⋯6dd 4HP 1 1 1 160400200
4HP 1 1 1 260400200
4HP 1 1 1 360400200
4HP 1 1 1 360400201
4HP 1 1 1 160400210
4HP 1 260400210
4HP 1 1 1 360400210
4HP 1 1 1 360400211
5HP 1 1 1 160500200
5HP
5HP 1

1
1

260500200
360500200

19⋯2u4 5HP 1 1 1 360500201
5HP
5HP
1
1

1
1

1
1
160500210
260500210

5HP 1 1 1 360500210
5HP5版 1 3605002111 1
6HP 1 1 160600200
6HP 1 1 260600200
6HP 1 1 1 360600200Shielded 6HP 1 1 360600201
6HP 1 1 1 160600210
6HP 260600210
6HP 1 1 1 360600210
6HP 3606002111

7HP 1 1 160700200
7HP 1 2607002001
7HP 1 1 1 360700200
7HP 1 1 1 360700201
7HP 1 1 1 160700210
7HP 1 1 1 260700210
7HP 1 1 1 360700210

,TypeA

7HP 1 1 1 360700211
8HP 1 1 1 160800200
8HP 1 1 260800200
8HP 1 1 360800200
8HP 3608002011 1

8HP 160800210

言Rugged 8HP 1 260800210
3608002108HP

8HP 360800211
10HP 1 1610002001

相 10HP 2610002001
10HP 1 361000200
10HP 361000201

Subracks 10HP 1 1 1 161000210
10HP 2610002101
10HP 1 1 1 361000210
10HP 1 1 361000211
12HP 1 1 1 161200200
12HP 1 1 1 261200200
12HP 1 1 1 361200200

明眼 12HP 1 361200201ourepo 1 1
12HP 1612002101 1 1
12HP 1 2612002101 1
12HP 1 1 1 361200210
12HP 3612002111 1 1

182



T02 Panel component
瑞德科诺

RDEKONO

6U Panel component

To2 offset Handle orderinformation

Width I Panel ll Panel lll Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 160410200
4HP 1 1 1 260410200
4HP 360410200
4HP 1 1 1 360410201
4HP 1 1 1 160410210
4HP 1 1 260410210
4HP 1 1 1 360410210

hnbms⋯us
Series Subacks
ssngeps
m⋯

4HP
5HP 1

1
1

1
1

1 360410211
160510200

5HP
5HP

1
1
1
1 1

260510200
360510200

5HP 1 1 1 360510201
5HP 1 1 1 160510210
5HP 1 1 1 260510210
5HP 1 1 1 360510210
5HP 1 1 1 360510211
6HP
6HP
6HP
6HP
6HP
6HP
6HP
6HP
7HP
7HP

1

1

1

1

1
1

1
1
1

1
1
1

1

1

1

1

1
1

1

160610200
260610200
360610200
360610201
160610210
260610210
360610210
360610211
160710200
260710200

7HP 1 1 1 360710200
7HP 1 1 360710201
7HP 1607102101 1 1
7HP 1 1 1 260710210
7HP 1 1 1 360710210
7HP 1 1 1 360710211
8HP 1 1 1 160810200
8HP 1 1 1 260810200
8HP 1 1 1 360810200
8HP 1 1 360810201

knbns guus
Series SubracksDNS

amntgnd
hcnbus ouos量
Seres Subracks
42

va
8HP 1 1 1 160810210
8HP 260810210
8HP 1 1 1 360810210
8HP 360810211
10HP 1 1610102001
10HP 261010200
10HP 3610102001
10HP 361010201
10HP 1610102101 1
10HP 261010210
10HP 361010210
10HP 361010211
12HP 1 1 1 161210200
12HP 1 2612102001

12HP 1 1 1 361210200
12HP 1 1 1 361210201
12HP 1 1 1 161210210
12HP 1 1 2612102101
12HP 1 3612102101 1
12HP 3612102111

Sde panel

dOrder no.
183



瑞德科诺

Seres Subraces6户和
EK+AEG+ PRO
e⋯⋯服
言的10 na⋯⋯⋯⋯aeang
dens亦43061

debnsaugs心
日心⋯

xbns的u萌pnaxin
56

ans⋯墨4
d结anod

2

Subracks

and ege tableOrder no

T04 Panel component RDEKON>O

3U Panel component

M25
Captse steas

T0x E

EMC tetie
Mets heve Se xrew U staped pandt gphet ENC gsket fosd bacit PCB Board

以

0D

keyne/Coóng PCB SR 

Panel profile

令

4.09×-0.3 5.08×1-0.4 5,08×IP-0

I Profile ll Profile I Profile

Delivery Comprises(kit)

Name Qty Order no Descniption
T04 Bottom 1 1002023 Install in the bottom panel
Metal sleeve 3 1014002 Plastic

Metal sleeve 3 1014003 Brass

U-shaped panels Front anodised rear conductive

EMC textile gasket 1 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel
Keying/Coding 3 1009010 Plastic

EMC gasket 1008015 EMC gasket
PCB Set screw 3 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel
Set screw 1004011 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

Printed board bracket 1 1015004 Printed board bracket,Die-cast zine-丝十 n

Open

8 :

◎

貌

Effective opening area

Effective opening area
Height Llm L2m L3m L4m L5om

3L 128.7 115.4 122.50 88.9 81.7
40 173.15 159.85 166.95 133,35 126.15

6 262.05 248.75 255.85 222.25 215.05

9 395.4 382.1 389.20 355.6 348.4

184



瑞德科诺
T04 Panel component RDEKONO

EK&EG PRO3U Panel component

名物物眼Fo4Handle order information
Width 1 Panel Il Panel Ill Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 130400400
4HP 1 1 230400400
4HP 330400400
4HP 1 1 330400401
4HP 1 1 1 130400410 Handie4HP 230400410
4HP 1 1 1 330400410
4HP
5HP 1

1
1

1
1

1 330400411
130500400

5HP 1 2305004001

5HP 330500400
5HP 1 1 3305004011

5HP 1 1 1 130500410
5HP 1 1 1 230500410

spedfitation的
16.23

5HP 1 1 1 330500410 sanesnbumh5HP 1 1 3305004111 DNS6HP 1 1 1 130600400
6HP 1 1 1 230600400
6HP 1 1 1 330600400 ansfnuna5言6HP 3306004011 1 1
6HP 1 1 1 130600410
6HP 1 1 2306004101

6HP 1 1 1 330600410 VERD6HP 1 1 330600411
7HP 130700400
7HP 230700400
7HP 330700400
7HP 1 1 330700401
7HP 1307004101 1 1 smesnq⋯7HP 1 1 230700410

307HP 1 1 1 330700410
7HP 1 3307004111 1
8HP 1 1 1 130800400 swo snq op8HP 1 1 1 230800400 TypeA8HP 1 1 1 330800400
8HP 3308004011 1 1
8HP 1 1 1 130800410
8HP 230800410
8HP 1 1 3308004101
8HP 330800411
10HP 1 1310004001 1
10HP 231000400
10HP 3310004001 1 1

10HP 331000401
10HP 1310004101 1 1
10HP 2310004101

10HP 1 331000410
10HP 3310004111

12HP 131200400
12HP 1 1 231200400
12HP 331200400
12HP 1 1 1 331200401
12HP 131200410
12HP 1 2312004101
12HP 1 1 1 331200410

33120041112HP 1 1

5de panelnd

hcorbns ams
Suhracks⋯的和

and page TableOrder no.

185



瑞谪科诺

deanss恶要貌和
T04 Panel component

3U Panel component

RDEKONO

架素40 T04 Of'set Handle orderinformationl

Width I Panel II Panel IIl Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 130410400
4HP
4HP

1
1

1
1

1
1

230410400
330410400

4HP 1 1 1 330410401
4HP 1 1 1 130410410
4HP 1 1 1 230410410
4HP 1 1 1 330410410
4HP
5HP 1

1
1

1
1

1 330410411
130510400

5HP 1 1 230510400
5HP 1 1 1 330510400

19*CUR 5HP 1 1 1 330510401
5HP
5HP
1

1
1
1

1 130510410
230510410

5HP 1 1
5HP 1
6HP 1 1
6HP 1 1
6HP 1 1
6HP 1
6HP 1 1
6HP 1
6HP 1 1
6HP 1
7HP 1 1

1

1

1

1

1
1

1

1
1

1
1
1
1

330510410
330510411
130610400
230610400

330610400
330610401
130610410

230610410
330610410

330610411
130710400

7HP 1 1 1 230710400
7HP 1 1 1 330710400
7HP 1 1 1 330710401
7HP 1 1 1 130710410
7HP 1 1 2307104101
7HP 1 1 1 330710410

7HP
8HP 1

1
1

1
1
1 330710411

130810400

at 8HP
8HP

1
1

1
1

1
1

230810400
330810400

8HP 1 1 1 330810401
8HP 1 1 1 130810410

8HP 1 1 230810410
8HP 1 1 3308104101
8HP 3308104111
10HP 1310104001 1
10HP 231010400
10HP 3310104001
10HP 3310104011
10HP 1 1 131010410

10HP 231010410
10HP 1 1 331010410

10HP 331010411

6⋯⋯⋯⋯ 12HP 1 1 131210400
12HP 231210400

12HP 1 1 1 331210400

and pege Table 12HP⋯⋯0 1 1 1 331210401
12HP 1 1 1 131210410

12HP 2312104101
12HP 1 1 1 331210410
12HP 3312104111 1

186



瑞德科诺

T04 Panel component

6U Panel component

RDEKON>O

[⋯6⋯名
M2.5 EMC tertile
Captie screat ToH rande Top Metal slteve Ushapedpareb EMC gsket PCB Bowd Panel profile

T04 Bottom

⑩

面

Weing/Coding PCB Setsrww

之

E0H×H-0.3 5.08×15-0.3

5

5.08×IIP- 0.3

I Profile Il Profile l Profile

Delivery Compfises(kit)

Name Qty Order no Description
T04 Top 1002022 Intall in the top panel
T04 Bottom 1 1002023 Install in the bottom panel
Metal sleeve 2 1014002 Plastic
Metal sleeve 2 1014003 Brass

U-shaped panels 1 / Front anodised rear conductive

EMC textile gasket 1 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/taptive screws M2.5×12 Stainless steel
Keying/Coding 6 1009010 Plastic
EMC gasket 1 1008015 EMC gasket
PCB Setscrew 4 1004004 Pan head Pozidrive s/sk screw M2.5×6 Stainless steel

T04 Handle

Locking

Open

Efecive opening area

Effective cpening ares
Hal Llm 12m 13m 14m L5em

30 128.7 115,4 122.90 88.9 81.7

4# 173.15 150.85 166.95 133.35 126.15

60 262.05 248.75 255.85 222.25 215.05
0 395.4 382.1 389.20 355.6 348.4

目臣aE6ppo
aH

Guide rall
16.00

Series SubackeDNS

unfgnaams
083A

Serles Subracks Seres SubracksProtective
CASE

veaht ⋯脱的

5N

⋯⋯⋯⋯2hcorbns
中正

mp⋯14Order na

187



Ex336p服0
T04 Panel component

6U Panel component

瑞德科诺

RDEKON>O

To4 Handle order infomationl
Width IPanel II Panel lll Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 160400400
4HP 1 1 1 260400400
4HP 1 1 1 360400400
4HP 1 1 1 360400401

Handle 4HP 1 1 1 160400410
4HP 1 1 1 260400410
4HP 1 1 1 360400410
4HP 1 1 1 360400411
5HP 160500400
5HP 1 1 1 260500400
5HP 1 1 1 360500400
5HP 1 1 1 3605004014n.61 5HP 1 1 1 160500410
5HP 260500410
5HP 1 1 3605004101

3605004115HP 1 1 10s 6HP 1 1 1 160600400
6HP 2606004001 1

6HP 1 1 1 360600400

Shielded 6HP 1 1 1 360600401
6HP 1 1606004101
6HP 1 260600410
6HP 1 1 1 360600410

孤%0 6HP 3606004111 1
7HP 1 1 1 160700400
7HP 1 1 2607004001
7HP 1 1 360700400
7HP
7HP 1

1
1

1 1
1
360700401
160700410

7HP 11 1 260700410
7HP 1 1 1 360700410
7HP 1 1 1 360700411
8HP 1 1608004001 1
8HP 2608004001 1

和人 8HP 360800400
8HP 3608004011 1 1
8HP 1 1 1 160800410ana 8HP 260800410
8HP 11 1 360800410
8HP 360800411
10HP 1 1 1 161000400

州 10HP 261000400
10HP 1 3610004001
10HP 3610004011 1

hpeqns 10HP 1 1 1 161000410
10HP 261000410
10HP 3610004101 1 1
10HP 3610004111 1

亦 12HP 1 1 1 161200400
12HP 1 1 261200400
12HP 1 1 1 361200400

and pege Table 12HP 3612004011 1opm2 1
12HP 1 1 1 161200410
12HP 2612004101
12HP 1 1 1 361200410
12HP 1 1 3612004111

188



T04 Panel component
瑞德科诺

RDEKONO

6U Panel component

T04Offset Handle orderinfomation
Width I Panel Il Panel Ill Panel EMC gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 160410400
4HP 1 1 1 260410400
4HP 1 1 1 360410400
4HP 1 1 1 360410401
4HP 1 1 1 160410410
4HP 2604104101 1
4HP 1 1 1 360410410
4HP 1 1 1 360410411
5HP 1 1 1 160510400
5HP 1 1 260510400
5HP 1 1 1 360510400
5HP 1 1 1 360510401
5HP 1 1 1 160510410
5HP 1 1 1 260510410
5HP 1 1 1 360510410
5HP 1 1 3605104111

6HP 1 1 1 160610400
6HP 1 1 260610400
6HP 1 1 1 360610400
6HP 1 1 1 360610401
6HP 1 1 1 160610410
6HP 1 260610410
6HP 1 1 1 360610410
6HP 3606104111 1 1
7HP 1 1 1 160710400
7HP 1 260710400
7HP 1 1 1 360710400
7HP 3607104011 1 1
7HP 160710410
7HP 2607104101 1 1
7HP 1 1 1 360710410
7HP 1 1 1 360710411
8HP 1 1 1 160810400
8HP 1 1 2608104001
8HP 1 1 1 360810400
8HP 1 3608104011

8HP 1 1608104101 1
8HP 260810410
8HP 1 1 1 360810410

8HP 360810411
10HP 1 1610104001 1
10HP 261010400
10HP 361010400
10HP 361010401
10HP 1 1 1610104101
10HP 261010410
10HP 1 3610104101
10HP 3610104111
12HP 1 1 1 161210400
12HP 1 1 1 261210400
12HP 361210400

36121040112HP 1 1 1
12HP 1612104101 1 1
12HP 1 1 2612104101
12HP 1 1 1 361210410
12HP 3612104111 1 1

189

EK&EG PRO
眼*2的名
meK8a60
Handlespecification

kn.at

柔sSeries Subrade
dmsdngln nnld
M80Series Subrackt
Proteetive
CASE

TypeA

形密 so pne
州kcerbnssmugs

and page Table



瑞谪科诺

ENSE6pno
T06 Panel component

3U Panel component

RDEKON>O

EK+BEG+ PRO
276pno
specifcationHandle

dm⋯anonGude rall
8m.61

0s

0n⋯⋯Shielded
量

的的Protective
m颖madCASE

1oet

Subracksmd言s
深

snqmdk

M25
ni Meul tkew Se gen U shae

EMC extle

mes geshet EMC gasket Board bracig PCB Board

Panel profile

马
下

0D

0D @D四

P

T0 Battr

θD ④

以

船

PCB Set srew

5.08× 0. A.os×i2-0.3 5.08×IP-0.3

I Profile Il Profile I Profile

Delivery Comprises(kit)

Name Qty Order noDescription
T06 Bottom 1 1002031 Installin the bottom panel
Metal sleeve 3 1014002 Plastic
Metal sleeve 3 1014003 Brass
U-shaped panels 1 Front anodised rear conductive

EMC textile gasket 1 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel

Keying/Coding 3 1009010 Plastic

EMC gasket 1 1008015 EMC gasket
PCB Set screw 3 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel
Set screw 1 1004011 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel
Printed board bracket 1 1015004 Printed board bracket,Die-cast zinc

5.0

Open

o

息相

◎

几

Effective opening area
上的

⋯
p⋯⋯76Order no.

Effective opening area
Heght Lim L2m L3mm Amn L5mm

3t 128.7 115.4 122.5 88.9 39.8
4U 173.15 159.85 166.95 133.35 84.3

262.05 248.75 255.85 222.25 173.2
9 395.4 382.1 389.2 355.6 306.5

190



3U Panel component

T06 Panel component
瑞德科诺
RDEKON>O

Ex2⋯6p服0qems⋯
T06 Handle orderinformation
Width IPanel ll Panel IIl Panel EMC gasket EMC textile gasket Black handle Grey handle Order no

BEKEBEG PRO4HP 1 1 1 130400600
4HP 1 1 1 230400600
4HP 1 1 1 330400600
4HP 1 1 1 330400601
4HP 130400610
4HP 1 1 2304006101
4HP 1 1 1 330400610
4HP 1 1 1 330400611
5HP 1 1 1 130500600
5HP 1 1 2305006001

5HP 1 1 1 330500600
5HP 1 1 330500601 fn2.615HP 130500610
5HP 1 1 2305006101
5HP 1 1 1 330500610
5HP 1 1 330500611 根6HP 1 1 1 130600600
6HP 1 230600600
6HP 1 1 330600600
6HP 1 1 3306006011
6HP 1 1 1 130600610
6HP 1 230600610
6HP 3306006101 1 1 VERO6HP 1 330600611
7HP 1 1 1 130700600
7HP 1 1 230700600

用心⋯中7HP 330700600
7HP 1 330700601
7HP 1 1 1 130700610 sanesngep7HP 1 1 2307006101

7HP 1 1 330700610 051
7HP 1 1 1 330700611
8HP 1 1 1 130800600

Serie Subracks8HP 2308006001 TypeA8HP 330800600
8HP 330800601
8HP 1308006101 1 1

言8HP 230800610
8HP 1 1 330800610
8HP 330800611
10HP 1 1310006001
10HP 231000600 排
10HP 3310006001
10HP 331000601
10HP 1 1 131000610 ⋯⋯⋯⋯⋯1
10HP 2310006101
10HP 1 1 3310006101
10HP 331000611
12HP 1 1 1 131200600
12HP 1 1 1 231200600
12HP 1 1 1 331200600
12HP 3312006011 1 01d⋯312HP 1 1 1 131200610
12HP 2312006101 1

12HP 331200610
12HP 3312006111

191



瑞谱科诺

4⋯⋯s的名恶眼6户和
T06 Panel component
3U Panel component

RDEKONO

毁地的*和
⋯v⋯640
T06 Offset Handle orderinfommation
Width IPanelIPanel IIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 130410600
4HP 1 1 1 230410600
4HP 1 1 1 330410600
4HP 1 1 1 330410601
4HP 1 1 1 130410610
4HP 1 1 1 230410610
4HP 1 1 1 330410610
4HP 1 1 1 330410611
5HP 1 1 1 130510600
5HP 1 1 230510600
5HP 1 1 1 330510600
5HP 1 1 1 330510601

02.61 5HP 1 1 1 130510610
5HP 2305106101 1

5HP 1 1 1 330510610
5HP 3305106111

根 6HP 1 1306106001
6HP 2306106001
6HP 1 330610600
6HP 1 330610601
6HP 1 1 1306106101
6HP 2306106101 1

6HP 1 1 3306106101
6HP 1 1 330610611
7HP 1 1 1 130710600
7HP 1 1 230710600
7HP 1 1 1 330710600
7HP 1 1 1 330710601
7HP 1 1 1 130710610
7HP 1 1 2307106101

7HP 1 1 1 330710610
7HP 1 1 1 330710611
8HP 1 1 1 130810600
8HP 1 2308106001

TypeA 8HP 1 3308106001 1

8HP 3308106011

明

Subracks

8HP 1 1 1 130810610
8HP 1 1 230810610
8HP 1 1 1 330810610
8HP 3308106111

10HP 1 1 1 131010600
10HP 2310106001 1
10HP 1 1 1 331010600

33101060110HP 1 1
10HP 1 1 1 131010610
10HP 2310106101 1

10HP 1 1 1 331010610
10HP 331010611
12HP 1 1 1 131210600

23121060012HP 1
12HP 1 1 1 331210600

色
12HP 1 1 1 331210601ornnno 12HP 1 1 1 131210610
12HP 11 1 231210610
12HP 1 1 1 331210610
12HP 1 1 331210611

192



瑞德科诺

T06 Panel component

6U Panel component

RDEKON>O

Ex5⋯6pa
M25
Captie scews TD4 Handie Tep Metal deeve (h
D 0= ②

@=
T06 Batom

吸

③
Kejing/

EMC tetil

EWC asket PCB Boad

ACB Set krew

Panel profile

5.08XIP-0.3 5.08×IP-0.3

:
5

5.08×HP-0.3

I Profile l Profile II Profile

Delivery Comprises(kit)

Name

T06 Top
T06 Bottom

Metal sleeve

Qty Order no Description

1 1002030 Install in the top panel
1002031 Install in the bottom panel

2 1014002 Plastic
Metal sleeve 2

U-shaped panels 1
EMC textile gashet 1
Captive screws 4

Keying/Coding 6

EMC gasket
PCB Set scew 4

1014003

/
1008038

1004023
1009010

1008015

1004004

Brass

Front anodised rear conductive
EMC textile gasket
Cross/captive screws M2.5×12 Stainless steel
Plastic
EMC gasket
Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

T06 Handie

Locking

Open

U

n几

Effective opening area

Efective opening area
Heighr L1m L2m L3m LAm Lsm
30 128.7 115.4 122.5 88.9 39.8
40 173.15 159.85 166.95 133.35 84.3

60 262.05 248.75 255.85 222.25 173.2

90 395.4 382.1 389.2 355.6 306.5

重眼能和p名
BEKBBEG PROhxbas mes

部作作6
80⋯61

sw

ansimun名d物

眼孤

Series SubracksSeries Subradksra⋯⋯⋯
30

Type A

sh dm

sypeqns tuugs2
6⋯5
6
hima退

193



瑞德科诺

e28d服0
T06 Panel component
6U Panel component

RDEKON>O

To6 Handle orderinformationl
Width IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 160400600
4HP 1 1 1 260400600
4HP 1 1 1 360400600
4HP 1 1 1 360400601
4HP 1 1 1 160400610
4HP 1 1 1 260400610
4HP 1 1 1 360400610
4HP 1 1 1 360400611
5HP 1 1 1 160500600
5HP 2605006001 1 1
5HP 1 1 1 360500600
5HP 1 1 1 360500601
5HP 1 1 1 160500610
5HP 2605006101

sw

班晨

5HP 1 1 3605006101

5HP 3605006111

6HP 1606006001 1
6HP 1 260600600
6HP 1 1 360600600
6HP 1 360600601
6HP 1 1 1 160600610
6HP 1 2606006101
6HP 3606006101 1 1
6HP 1 1 360600611
7HP 1 1 1 160700600
7HP 2607006001 1
7HP 1 1 1 360700600
7HP 1 1 1 360700601
7HP 1 1 1 160700610
7HP 1 1 1 260700610

CASE 7HP 1 1 1 360700610
7HP 1 1 1 360700611
8HP 1 1 1608006001
8HP 260800600
8HP 3608006001 1

8HP 360800601

叫照貌
8HP 1 1608006101 1
8HP 260800610
8HP 1 1 1 360800610
8HP 1 1 360800611

hnqnsss排 10HP
10HP
10HP
10HP
10HP
10HP
10HP
10HP

1

1

1

1

1

1

1

1

1

1

1

1 161000600
261000600
361000600
361000601
161000610
261000610
361000610
361000611

12HP 1 1 1 161200600
12HP 1 261200600
12HP 3612006001 1 1

6 36120060112HP 1 1 1
12HP 1612006101 1 1
12HP 1 1 2612006101
12HP 1 1 1 361200610
12HP 1 1 1 361200611

194



瑞德科诺

T06 Panel component RDEKON>O

sne suornh3x8pao6U Panel component

Series Subracks色恨的p0T06 Offset Handle orderinformationl
Width IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 BEKABEG PRO160410600
4HP 1 1 1 260410600
4HP 1 1 1 360410600
4HP 1 1 1 360410601
4HP 1 1 1 160410610 Handle4HP 1 1 1 260410610
4HP 1 1 1 360410610
4HP 1 1 1 360410611

specificationGuide rall5HP 1 1 1 160510600
5HP 1 2605106001 1
5HP 1 1 1 360510600
5HP 1 1 1 360510601

95HP 1 1 1 160510610
5HP 260510610
5HP 1 3605106101 1

5HP 360510611
6HP 1 160610600
6HP 1 260610600
6HP 1 3606106001

6HP 3606106011
6HP 1 1 1 160610610
6HP 2606106101
6HP 1 1 3606106101
6HP 3606106111

7HP 1 1 1 160710600
7HP 2607106001
7HP 1 1 1 360710600
7HP 1 1 1 360710601
7HP 160710610
7HP 1 260710610
7HP 1 1 1 360710610
7HP 1 1 360710611
8HP 1 1 1608106001
8HP 2608106001
8HP 3608106001 1 1

8HP 1 360810601
8HP 1 1 1 160810610
8HP 2608106101

8HP 1 1 3608106101
8HP 360810611
10HP 1 1 1 161010600
10HP 2610106001
10HP 3610106001 1 1
10HP 3610106011
10HP 1 1610106101

10HP 261010610
10HP 3610106101 1
10HP 361010611
12HP 1 1 1 161210600
12HP 1 1 1 261210600
12HP 361210600
12HP 3612106011 1

12HP 1 1 1 161210610
12HP 1 261210610
12HP 1 1 3612106101
12HP 1 1 361210611

05

Shelded

snasnra
sane sutnedsmaa
bceomssais32
55⋯h
Subracknad nns和的

sane suoedt5州

441⋯d限

195



瑞德科读

sgesutedEKAEG PRO
T07 Panel component

3U Panel component

RDEKON>O

Seres Subracks
目私⋯6pdoSeien Subracks

ind accessone貌

50⋯⋯⋯30.
Seres SubracksSNCF

⋯⋯59⋯⋯5

Protecthe
Series Subracke80
h

sidn pnng
草

Subracke

NQ5
Captie gm

0→①

0D
T07 Ber

Open

Meta skeve

@-

0p

U-shh

以

①
keying/Cading

25

Panelprofile

: 4
5EMC totle

reh set EMC gae Boa bocld PCB Board

5.OH×HFP-0.3 5.08×HP-0.1 5.08×- 0

配 I Profile ll Profile  Profile

Delivery Comprises(kit)

Name Qty Order no Description
T07 Bottom 1002033 Install in the bottom panel
Metal sleeve 3 1014002 Plastic

Metal sleeve 3 1014003 Brass
U-shaped panes Front anodised rear conductive
EMC textile gasket 1 1008038 EMC textile gasket

PC Set xrew Captive screws 4 1004023 Cross/captive screws M2.5×12 Sainless steel
Keying/Coding 3 1009010 Plastic

EMC gasket 1008015 EMC gasket

PCB Set screw 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

Set screw 1004011 Pan head Pozidrive c/sk xrew M2.5×6 Stainless steel

Printed board bracket 1 1015004 Printed board bracket,PC+209�,Die-cast zinc

通

Emextne openingarer

Effective opening areu
Heght Llm L2nm L3mm LAm L5um
30 128.7 115.4 122.5 88.9 39.8

明p眼⋯ondarna
40 173.15 159.85 166.95 133.35 84.3
60 262.05 248.75 255.85 222.25 173.2
90 395.4 382.1 389.2 355.6 306.5

196



瑞德科诺

T07 Panel component

3U Panel component

RDEKONO
EKBEG PRO
眼眼的名To7Handle order information

Width IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

BEK&BEG PRO4HP 1 1 1 130400700
4HP 11 1 230400700
4HP 1 1 1 330400700
4HP 1 1 1 330400701

中指作的4HP 1 1 1 130400710 hnupl4HP 1 1 1 230400710
4HP 1 1 1 330400710
4HP 1 1 1 330400711

eodmg5HP 1 1 1 130500700
5HP 1 1 230500700
5HP 1 1 1 330500700
5HP 1 1 1 330500701

40615HP 1 1 1 130500710
5HP 2305007101
5HP 1 1 1 330500710
5HP 1 1 330500711
6HP 1306007001 1
6HP 230600700
6HP 1 330600700
6HP 1 330600701
6HP 1 1 1 130600710
6HP 1 2306007101 1
6HP 1 1 1 330600710
6HP 1 3306007111
7HP 1 1 1 130700700
7HP 1 1 1 230700700
7HP 1 1 1 330700700
7HP 1 1 1 330700701
7HP 130700710
7HP 1 1 2307007101
7HP 1 1 1 330700710
7HP 3307007111 1 1
8HP 1 1 1 130800700
8HP 1 230800700
8HP 1 1 1 330800700
8HP 3308007011 1
8HP 11 1 130800710
8HP 1 2308007101

8HP 1 1 1 330800710
8HP 1 1 1 330800711

Senes Sutradks料
Shielded

hes相曼
nnaard
yxgnsmusCASE

4A

nd s和
10HP 131000700 Series Subracke1 1 1
10HP 1 231000700 3州
10HP 1 1 1 331000700
10HP 3310007011 1
10HP 1 1 1 131000710 Subrxks10HP 2310007101 1 1

10HP 1 1 1 331000710
10HP 3310007111

相山北12HP 1 1 1 131200700
12HP 1 231200700
12HP 11 1 331200700
12HP 1 1 331200701

言⋯⋯1
1 Order no12HP 1 1 1 131200710

23120071012HP 1 1 1
12HP 3312007101 1 1
12HP 1 1 3312007111

197



瑞德科诺

的的恶眼6尸和
T07 Panel component

3U Panel component

RDEKONO

明*指的是
norgd眼

To7 offset Handle orderinfomation
Width IPanelIPanel IPanel
4HP 1

EMC Gasket EMC textile gasket Black handle Grey handle Order no
1 1 130410700

4HP 1 1 1 230410700
4HP 1 1 1 330410700
4HP 1 1 1 330410701
4HP 1 1 1 130410710
4HP 1 1 1 230410710
4HP 1 1 1 330410710
4HP 1 1 1 330410711

同酒 5HP 1 1 1 130510700
5HP 1 1 1 230510700
5HP 1 1 1 330510700
5HP 1 3305107011 11620 5HP 1305107101 1 1
5HP 1 1 2305107101
5HP 1 1 1 330510710asnat 5HP 3305107111 1SNCF 6HP 1 1 130610700
6HP 1 1 230610700
6HP 1 1 330610700

Shielded 6HP 1 330610701
6HP 1306107101 1 1
6HP 2306107101 1
6HP 1 1 3306107101
6HP 3306107111 1 1
7HP 1 130710700
7HP 1 1 1 230710700a⋯t 7HP 1 1 1 330710700
7HP 1 3307107011 1
7HP 1 1 1 130710710
7HP 1 1 2307107101
7HP 1 3307107101 1
7HP 1 1 1 330710711
8HP 1 1 1 130810700
8HP 2308107001 1

TypeA 8HP 1 1 3308107001
8HP 330810701
8HP 1 1308107101 1

言言 8HP 2308107101
8HP 1 1 3308107101
8HP 1 1 330810711
10HP 1 1 1 131010700

5 10HP 2310107001
33101070010HP 1 1 1

10HP 331010701
10HP 131010710

Subracks 1 1 1
10HP 2310107101
10HP 3310107101 1 1

33101071110HP 1
12HP 1 1 1 131210700
12HP 2312107001 1

12HP 1 1 1 331210700

6同 12HP 3312107011onrna 12HP 1 1 1 131210710
12HP 1 1 1 231210710
12HP 1 3312107101 1
12HP 1 1 3312107111

198



瑞德科诺

T07 Panel component RDEKON>O

qems⋯sEx236p服06U Panel component

的*明皇烟M25 EMC tetik Panel profilelCaroe sceus T? tandle Ttep Wealsleee Ushget ek bket MC gpég PCB Boad
① :年 :可

BEKABEG PROyxiqns ⋯mss5

5.08×IP-0.3 5.0R×HP-0 5.08×IH 0.3

1 Profile ll Profile Ill Profile

Delivery Comprises(kit)

Name Qty Order no Description
T07 Top 1 1002032 Install in the top panel
T01 Bottom 1002033 Install in the bottom panel
Metal sleeve 2 1014002 Plastic

⋯261Metal sleeve 2 1014003 Brass

U-shaped panels Front anodised rear conductive
EMC textile gasket 1008038 EMC textile gasket

denns omsCaptive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel
4水Keying/Coding 1009010 Plastic

EMC gasket 1008015 EMC gasket
PCB Set screw 4 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steelT07 Bot PCB Setsoe*

T07 Handle
Lm

oU

locking

proxma
Effective opening area 053

Serie SubracksTypeA

是Open

n
3 5料

Efiective opening area
Height L?m L2m L3m LAm LSam

3m and pae Table128.7 115.4 122.5 88.9 39.8

orda340 173.15 159.85 166.96 133.35 84.3

222.25 173.260 282.06 248.75 255,85
382.1 389.2 355.6 306.5305.4

199



瑞德科诺

T07 Panel component

6U Panel component

RDEKONO

+眼
自粗心指6p名

To7 Handle order information
Width IPanel lPanelIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 160400700
4HP 1 1 1 260400700
4HP 1 1 1 360400700
4HP 1 1 1 360400701
4HP 1 1 1 160400710
4HP 1 1 1 260400710
4HP 1 1 1 360400710
4HP 1 1 1 360400711
5HP 1 1 1 160500700
5HP 1 1 1 260500700
5HP 1 1 1 360500700
5HP 3605007011 1 1en261 5HP 1 1 160500710
5HP 1 2605007101
5HP 1 1 1 360500710
5HP 360500711w 1 1 1
6HP 1 160600700
6HP 260600700
6HP 1 1 360600700
6HP 360600701
6HP 1 160600710
6HP 1 260600710
6HP 1 1 360600710

维退 6HP 1 1 360600711
7HP 1 1 1 160700700
7HP 2607007001 1⋯aa 7HP 1 1 1 360700700
7HP 1 1 1 360700701
7HP 1 1 1 160700710
7HP 1 1 260700710

50 7HP 1 1 1 360700710
7HP 1 1 1 360700711
8HP 1 1 1 160800700
8HP 1 260800700Tyod 8HP 1 1 3608007001
8HP 360800701
8HP 1608007101 1

Rugged 8HP 2608007101
8HP 1 1 360800710
8HP 3608007111
10HP 1 161000700

2 10HP 261000700
10HP 3610007001 1
10HP 3610007011
10HP 1 1 1610007101

10HP 261000710
10HP 3610007101 1
10HP 3610007111

12HP 1 1 1 161200700
12HP 1 261200700
12HP 1 1 1 361200700

4⋯⋯⋯配 12HP 3612007011orpnrno 12HP 1 1 1 161200710
12HP 2612007101
12HP 1 1 1 361200710
12HP 1 1 1 361200711

200



瑞德科诺

T07 Panel component

6U Panel component

RDEKONO
EKBEG PRO
名*的8的员Tor ofset Handle order infomation

WidthIPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

BEKBBEG PROsnasaxq4HP 1 1 1 160410700
4HP 11 1 260410700
4HP 1 360410700
4HP 1 1 1 360410701

都地作能的4HP 1 1 1 160410710
4HP 1 1 1 260410710
4HP 1 360410710
4HP 1 1 1 360410711 ⋯mato5HP 1 1 1 160510700
5HP 1 1 1 260510700
5HP 1 1 1 360510700
5HP 1 3605107011 1 kn0⋯615HP 1 1 1 160510710
5HP 1 1 1 260510710
5HP 1 1 1 360510710
5HP 1 1 1 360510711 sw6HP 1 1 1 160610700
6HP 1 1 260610700
6HP 1 1 1 360610700 plug-in unitsShielded6HP 1 1 360610701
6HP 1 1 1 160610710
6HP 1 1 2606107101

6HP 1 1 1 360610710
星班6HP 1 3606107111

7HP 1 1 1 160710700
7HP 1 1 1 260710700

da⋯⋯⋯7HP 1 1 1 360710700
7HP 1 1 1 360710701
7HP 160710710

sesmqnnh7HP 11 1 260710710
7HP 1 1 1 360710710 53
7HP 1 1 1 360710711
8HP 1 1 1 160810700

Series Subrachs8HP 1 1 1 260810700 TypeA8HP 1 1 1 360810700
8HP 360810701
8HP 1 1 1608107101

06ks眼pm8HP 2608107101

8HP 1 1 1 360810710
8HP 1 360810711

Series Subracks10HP 1 1 1 161010700
10HP 261010700 5相
10HP 1 361010700
10HP 1 361010701
10HP 1 1 161010710 ⋯⋯⋯⋯v1 ngibns10HP 2610107101 1

10HP 1 1 1 361010710
10HP 3610107111
12HP 1 1 1 161210700
12HP 2612107001 1 1
12HP 361210700
12HP 361210701 and page Table1 1 Order no.12HP 1 1 1 161210710
12HP 2612107101 1 1

12HP 1 1 1 361210710
12HP 1 3612107111 1

201



生眼的雕

界：犹的
BEKLBEGPRO
pnaH 0⋯⋯⋯⋯
的言

1620hxbns⋯ns
5mkbs明然

Shielded
班MSeries Subracks
naepSeries Subracks
s0hxrqs⋯u鸭
TypeAemsms
用指言Suhracks能明
5相peqnsa朝5
sbeos
06
9

瑞德科诺

T08 Panel component RDEKON>O

3U Panel component

M25
CheC Metal steeve st screw U shapedp

0=① o

0 D

T08 ing/Ca

EMC tetie
ds grset EMC gehet Boardbrxk PCB Board

PCB Set screw

Panel profile

会

5.08×HP-0.3 6.08×HP-0.3 5.08×IBP-0.

0

I Profile l Profile II Profile

Delivery Comprises(kit)

Name Qty Order no Description
T08 Bottom 1 1002037 Installin the bottom panel
Metal sleeve 3 1014002 Plastirc
Metal sleeve 3 1014003 Brass

U-shaped panels 1 Front anodised rear conductive

EMC textile gasket 1 1008038 EMC textile gasket

Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel

Keying/Coding 3 1009010 Plastic
EMC gasket 1 1008015 EMC gasket
PCB Set screw 3 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

Set screw 1 1004011 Pan head Pozidrive c/sk ssrew M2.5×6 Stainless steel

Printed board bracket 1 1015004 Printed board bracket,PC+20�,Die-cast zinc

62

1X8弧

Open

重西
叮

Pffective cpening area

Effective opening area
Height L1m 12m L3m Am 1.5om
30 128.7 115.4 122.5 88.9 81.7
40 173.15 159.85 166.95 133.35 126.15
风 262.05 248.75 255.85 222.25 215.05
90 395.4 382.1 389.2 355.6 348.4

202



瑞德科诺
T08 Panel component RDEKON>O

keanss82863U Panel component sasn⋯⋯TO8 Handle orderinformation
Width IPanel IPanel IIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 130400800
4HP 1 1 1 230400800
4HP 1 1 1 330400800
4HP 1 1 1 330400801
4HP 1 1 1 130400810
4HP 1 1 1 230400810
4HP 1 1 1 330400810
4HP 1 1 3304008111
5HP 1 1 1 130500800
5HP 1 1 1 230500800
5HP 1 1 1 330500800
5HP 1 1 1 330500801
5HP 1 1 1 130500810
5HP 1 1 2305008101
5HP 1 1 1 330500810 soue⋯snkeds5HP 1 1 1 330500811 s6HP 1306008001 1 1
6HP 1 230600800
6HP 1 1 1 330600800
6HP 1 1 330600801
6HP 1 1 1 130600810
6HP 2306008101
6HP 1 1 330600810

量6HP 1 3306008111

7HP 1 1 1 130700800
7HP 1 2307008001 1 Series Subrxks7HP 1 1 1 330700800
7HP 1 1 1 330700801
7HP 1 1 1 130700810

Serles Subracks7HP 1 1 1 230700810
7HP 1 1 1 330700810 50
7HP 1 1 1 330700811
8HP 1 1 1 130800800
8HP 2308008001 Type A8HP 1 1 3308008001

8HP 3308008011
8HP 1 1 130800810

⋯d ds8HP 230800810
8HP 1 1 3308008101
8HP 330800811
10HP 1 131000800
10HP 231000800 州
10HP 3310008001 1 1

10HP 331000801
10HP 1 1 1 131000810
10HP 2310008101

10HP 1 1 3310008101
10HP 3310008111
12HP 1 1 1312008001

12HP 2312008001 1

12HP 1 1 1 331200800

612HP 3312008011 1 1

Order no12HP 1 1 1 131200810
12HP 2312008101 1 1

12HP 1 1 1 331200810
12HP 1 3312008111 1

203



瑞德科诺
T08 Panel component RDEKON>O

石⋯ 3U Panel component
料指品 Tos ofset Handle order infomation
Width IPanel IIPanel IIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

照私推6名 4HP 1 1 1 130410800
4HP 1 1 1 230410800
4HP 1 1 1 330410800

nd⋯ 4HP 1 1 1 330410801
4HP 1 1 1 130410810
4HP 1 1 1 230410810
4HP 1 1 1 330410810
4HP 1 1 1 330410811
5HP 1 1 1 130510800
5HP 1 1 1 230510800
5HP 1 1 1 330510800
5HP 1 1 1 330510801n261 5HP 1 1 1 130510810

2305108105HP 1 1 1
5HP 1 1 1 330510810
5HP 1 1 1 330510811
6HP 1 1 1 130610800
6HP 1 2306108001
6HP 1 1 1 330610800
6HP 3306108011

6HP 1 1 1 130610810
6HP 1 230610810
6HP 1 1 3306108101

绝居 6HP 1 3306108111 1

7HP 1307108001 1 1
7HP 1 2307108001 1

aè 7HP 1 1 1 330710800
7HP 1 1 1 330710801
7HP 1 1 1 130710810
7HP 1 1 1 230710810

0 7HP 1 1 1 330710810
7HP 1 1 1 330710811
8HP 1 1 1 130810800
8HP 1 1 230810800,TypeA 8HP 1 1 1 330810800
8HP 3308108011 1
8HP 1 1 1308108101

Rugred 8HP 230810810
8HP 1 1 3308108101
8HP 330810811
10HP 1310108001 1

相 10HP 231010800
10HP 3310108001 1
10HP 3310108011 1 1
10HP 1 1 131010810
10HP 231010810
10HP 1 1 1 331010810
10HP 3310108111 1
12HP 1 1 1 131210800
12HP 2312108001 1 1

12HP 1 1 3312108001

4⋯⋯0p 12HP 1 1 3312108011opnrno 12HP 1312108101 1 1
12HP 2312108101 1

12HP 1 1 1 331210810
12HP 1 3312108111 1

204



瑞德科诺

T08 Panel component

6U Panel component

RDEKON>O
然6p和

M25 MC totle

Caoe kmas ToeHurdleTep Meta heoe Ustupsd pnes ht
①

以

108 Bcttom keying/coáng

EMC gpsdet PCB Baard

PCB SetSOE*

Panelprofilel

1

5.08×IP-0.3

1 Profile

5.0R×IP-Q

ll Profile

:年
5

6.O8×HP-0.3

 Profile

Delivery Comprises(kit)

Name Qty Order no Description
T08 Top 1002034 Install in the top panel
T08 Bottom 1002035 Install in the botom panel
Metal sleeve 2 1014002 Plastic

Metal sleeve 1014003 Brass

U-shaped panets 1 Front anodised rear conductive
EMC textile gasket 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/captive screws M2.5×12 Stainless steel
Keying/Coding 10090106 Plastic

EMC gasket 1008015 EMC gasket
PCB Set screw 1004004 Pan head Pozidrivec/sk screw M2.5×6 Stainless steel4

T08 Handie

Locking

Open

B

的nom ae

Efective opening area
Heght um L2m 13m Lm L5m
30 128.7 115.4 122.5 88.9 81.7
4U 173.15 159.85 166.95 133.35 126.15

6t 262.05 248.75 255.85 222.25 215.05
90 395.4 382.1 389.2 355.6 348.4

追疑古名
BEK&BEG PRO
hnupl

adng
4061

账

Shielded

paqns⋯aus曼
言k smmsbxpana
s0

1

ad眼s用盛

Seres Subracke3州

明易

重和的Order no

205



非眼附0
T08 Panel component

6U Panel component

瑞德科诺

RDEKONO

To8 Handle order information
Width IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

dd⋯avee 4HP 1 1 1 160400800
4HP 1 1 1 260400800
4HP 1 1 1 360400800
4HP 1 1 1 360400801
4HP 1 1 1 160400810
4HP 1 1 1 260400810
4HP 1 1 1 360400810
4HP 1 1 1 360400811
5HP 1 1 1 160500800
5HP 1 1 1 260500800
5HP 1 1 1 360500800

hxbns⋯ns 5HP 1 1 1 3605008011620 5HP 1 1 1 160500810
5HP 1 1 260500810
5HP 1 1 3605008101
5HP 1 1 36050081115 6HP 1 1 1 160600800
6HP 1 260600800
6HP 1 1 360600800
6HP 3606008011
6HP 1 1 160600810
6HP 1 1 260600810
6HP 1 1 360600810
6HP 1 360600811
7HP 1 1 1 160700800
7HP 1 1 1 260700800
7HP 1 1 1 360700800
7HP 1 1 1 360700801
7HP 1 1 1 160700810
7HP 1 1 1 260700810

emsms意有

7HP 1 1 1 360700810
7HP 1 1 1 360700811
8HP 1 1 1 160800800
8HP 2608008001 1
8HP 1 1 1 360800800
8HP 3608008011 1
8HP 1 1 160800810

dRugged 8HP 1 1 260800810
8HP 360800810
8HP 3608008111

10HP 1 1 1610008001
墨 10HP 1 2610008001
10HP 1 1 3610008001
10HP 361000801

Subracks 10HP 1 1 1610008101

10HP 2610008101
10HP 1 1 3610008101
10HP 3610008111

12HP 1 1 1 161200800
12HP 2612008001 1
12HP 3612008001 1 1

4⋯ 12HP 3612008011 1 1

12HP 1 1 161200810
12HP 1 1 261200810
12HP 1 1 1 361200810
12HP 1 3612008111 1

206



瑞谱科诺

T08 Panel component

6U Panel component

RDEKONO
理6陋0
突恨6*雕0To8 ofset Handle orderinformation

Width IPanel IIPanel IIPanelEMC Gasket EMCtextile gasket Black handle Grey handle Order no

解文之展604HP 1 1 1 160410800
4HP 1 1 1 260410800
4HP 1 1 1 360410800
4HP 1 1 1 360410801 xo4HP 1 1 1 160410810 Handle4HP 1 1 1 260410810
4HP 1 1 1 360410810
4HP 1 1 1 360410811
5HP 1 1 1 160510800
5HP 1 1 260510800
5HP 1 1 1 360510800
5HP 1 1 1 360510801 2.615HP 1 1 1 160510810
5HP 2605108101
5HP 1 1 1 360510810
5HP 360510811
6HP 1 1 160610800
6HP 260610800
6HP 1 1 360610800
6HP 3606108011
6HP 1 1 1606108101
6HP 1 260610810
6HP 1 1 1 360610810
6HP 1 360610811
7HP 1 1 1 160710800
7HP 1 1 260710800
7HP 1 1 1 360710800
7HP 1 1 1 360710801
7HP 160710810
7HP 1 1 2607108101

7HP 1 1 1 360710810
7HP 3607108111 1 1
8HP 1 1 1 160810800
8HP 1 1 260810800
8HP 1 1 1 360810800
8HP 1 1 360810801

SNCF

plug-n unitShielded
nd

patncths
3

8HP 1 1608108101 1
8HP 2608108101 1 Rugged8HP 1 1 3608108101

8HP 3608108111 1

10HP 161010800 s sned1 1 1
10HP 1 261010800 210HP 1 1 3610108001

10HP 3610108011

10HP 1 1 1610108101
10HP 2610108101 1

10HP 3610108101 1 1
10HP 361010811
12HP 1612108001 1 1
12HP 261210800
12HP 1 1 1 361210800
12HP 1 1 361210801  pu12HP 1 1 1 161210810
12HP 1 1 1 261210810
12HP 3612108101 1 1
12HP 1 1 1 361210811

207



瑞德科诺

T46 Panel component RDEKON>O

3U Panel component

Panel profile

6.2
马M2.5 EMC testie

Captiv Metal sleeve Set srew ULshapet eh gasket EMC gashet Soard brxket PCBBoand

5.0R×HP-0.3 5.0K×HP-0.3 08×HP
户

I Profile ll Profile  Profile

Delivery Comprises(kit)

Name Qty Order no Description
T46 Bottom 11002056 Install in the bottom panel
Metal sieeve 3 1014002 Plastic
Metal sleeve 3 1014003 Brass

U-shaped panels Front anodised rear conductive
0D EMC textile gasket 1 1008038 EMC textile gasket

T46 Bottom PCB Sst wrewNeying/Codrg Captive screws 4 1004023 Crossjcaptive screws M2.5×12 Stainless steel
Keying/Coding 3 1009010 Plastic

SNCF EMC gasket 1008015 EMC gasket
PCB Set scew 3 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel

Set sxrew 1004011 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel
Printed board bracket 11015004 Printed board bracket,PC+209�,Die-cast zinc

班詈
.2

5.

Seies Subradks Effective opening areaheqnsausCASE
Open

06vad6 叮 23

Series Subracdes5相

229105kosona
⋯中1 Effective opening area

Heiht Limm L2m L3mm Lm L5om
128.7 115.4 122.5 88.9 81.730

30⋯⋯⋯161nuapro 40 173.15 159.85 166.95 133.35 126.15
60 262.05 248.75 255.85 222.25 215.05
90 395.4 382.1 389.2 355.6 348.4

208



瑞遭科诺

T46 Panel component RDEKONO
herbnseas3U Panel component

Series SubacksT46 Handle order information
Width IPanel IIPanel IIPanel EMC Gasket EMC textile gasket Black handle Grey handleOrder no

Series Subrads4HP 1 1 1 130404630
4HP 1 1 1 230404630
4HP 330404630
4HP 1 1 1 330404631 404HP 1 1 1 130404640
4HP 1 1 230404640
4HP 1 330404640
4HP 1 1 1 330404641
5HP 1 1 1 130504630
5HP 2305046301 1
5HP
5HP

1
1
1

1
1
1

330504630
330504631

5HP
5HP
1
1

1
1

1
1

130504640
230504640 sanasnbrmt

5HP 1 1 1 330504640 Series Subracks5HP 1 330504641 DNS6HP 1 1 1 130604630
6HP 1 1 230604630
6HP 1 1 1 330604630 plug in untShielded6HP 1 330604631
6HP 1306046401 1 1
6HP 2306046401

senm snbach6HP 1 1 1 330604640
6HP 1 330604641
7HP 130704630
7HP 230704630 Seres Subracs1 1
7HP 1 1 1 330704630
7HP 1 1 330704631
7HP 130704640

smassuondh7HP 1 1 1 230704640
7HP 1 1 1 330704640 CASE
7HP 1 1 1 330704641
8HP 1 1 1 130806430
8HP 1 1 230804630 TypeA8HP 1 1 330804630
8HP 1 330804631
8HP 1308046401 1 1

的Sde panel8HP 230804640
8HP 3308046401
8HP 330804641

sma snaah10HP 1 1310046301

10HP 231004630 相
10HP 3310046301
10HP 331004631

13100464010HP 1 1 1 人的的通10HP 231004640
10HP 1 1 1 331004640
10HP 1 331004641
12HP 1 1 1 131204630
12HP 1 1 2312046301
12HP 331204630
12HP 1 3312046311 1 rder no12HP 1312046401 1 1
12HP 1 2312046401 1
12HP 1 1 1 331204640
12HP 3312046411 1 1

209



瑞遭科诺

T46 Panel component
snmsuqrnhEKAEG PRO 3U Panel component

RDEKONO

明表的 F46 offset Handleorder infomationWidth IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

BEKABEG PRO 4HP 1 130414630
4HP 1 1 1 230414630
4HP 1 1 1 330414630
4HP 1 1 330414631
4HP 1 1 1 130414640
4HP 1 1 2304146401
4HP 1 1 1 330414640
4HP 3304146411 1 1
5HP 130514630
5HP 1 1 1 230514630
5HP 330514630
5HP 3305146311 1 10.9 5HP 1 1 1 130514640
5HP 1 1 230514640
5HP 330514640
5HP 1 3305146415 6HP 1 1 130614630
6HP 2306146301 1
6HP 3306146301 1

Shieded 6HP 330614631
6HP 1306146401 1 1

6HP 1 230614640
6HP 1 1 3306146401

6HP 3306146411
7HP 1307146301 1 1
7HP 1 230714630
7HP 1 1 1 330714630
7HP 1 1 1 330714631
7HP 1 1 1 130714640
7HP 1 1 2307146401

CASE 7HP 1 1 1 330714640
7HP 1 1 1 330714641
8HP 130814630⋯ 8HP 2308146301TypeA 8HP 330814630
8HP 330814631
8HP

Sde panel 8HP8HP
8HP

130814640
230814640
330814640
330814641

10HP 1 1 131014630
翻 10HP 2310146301

10HP 3310146301 1 1
10HP 331014631

Subrxks 10HP 1 1 1 131014640
10HP 231014640
10HP 1 1 3310146401
10HP 331014641⋯ 12HP 131214630
12HP 2312146301
12HP 3312146301 1 1

以 12HP
3312146311 1

ondam 12HP 131214640
12HP 2312146401

12HP 331214640
12HP 1 1 331214641

210



瑞德科诺

T46 Panel component

6U Panel component

RDEKON>O

EKBEG PRO
M25 MC tetie

Captie screas T46 Hande Top Weal slese Ushaped pindts gatket

T46 Bottom Kern/Coóng

EMC gashet ACB Board

PCB StScrew

Panel profile

5,08×HP-0.3 5.UH×HW-0

42
5

5.08×IP-0.3

I Profile Il Profile  Profile

Deliveny Comprises(kit)

Name Qty Orderno Description
T46 Top 1002056 Install in the top panel
T46 Bottom 1002056 lnstall in the bottom panel
Metal sleeve 2 1014002 Plastic
Metal sleeve 1014003 Brass2
U-shaped panels / Front anodised rear conductive
EMC textle gasket1 1008038 EMC textile gasket
Captive screws 4 1004023 Cross/captive srews M2.5×12 Stainless steel

Keying/Coding 6 1009010 Plasic

EMC gasket 1008015 EMC gasket

PCBSet screw 1004004 Pan head Pozidrive c/sk screw M2.5×6 Stainless steel4

T46 Handle

Locking

Open

同

Effective opening area

章

Effective opening area
Hegt Llm L2mm L3m LAm L5mm

3 128.7 115.4 122.5 88.9 81.7
40 173.15 159.85 166.95 133.36 126,15
0 262.05 248.75 255.85 222.25 215.05
0 395.4 382.1 389.2 355.6 348.4

臣期恨6*雕0
佛文之展60

Handle

dn9
2.61

Series Subracks然
plug-n unitShielded
nd

patncths
3

Rugged

sa sned2

ndd⋯
211



Ex⋯e6⋯服0bens 6U Panel component
T46 Panel component

瑞德科诺

RDEKONO

snasnbnt T46 Handle orderinformationWidth IPanel IIPanel IIIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no
4HP 1 1 1 160404630
4HP 1 1 1 260404630
4HP 1 1 1 360404630
4HP 1 1 1 360404631
4HP 1 1 1 160404640
4HP 1 1 1 260404640
4HP 1 1 1 360404640
4HP 1 1 1 360404641aepng 5HP 1 1 1 160504630
5HP 1 2605046301
5HP 360504630
5HP 1 1 1 36050463116⋯3mh 5HP 1 1 1 160504640
5HP 1 1 2605046401

5HP 360504640
5HP 3605046411

心 6HP 1606046301
6HP 1 260604630
6HP 3606046301 1
6HP 3606046311
6HP 1 1 1 160604640
6HP 1 1 260604640
6HP 11 1 360604640
6HP 360604641
7HP 1 1 1 160704630
7HP 2607046301 1

prainf 7HP 1 1 1 360704630
7HP 1 1 1 360704631
7HP 1 1 1 160704640
7HP 260704640
7HP 1 1 1 360704640
7HP 3607046411 1
8HP 1 1 1 160806400

e5⋯墨 8HP 2608046001
4k 8HP 3608046001 1 1
8HP 360804601
8HP 1 1 1 160804640

d 8HP 260804640
8HP 1 1 1 360804640
8HP 360804641
10HP 1 1 1 161004600

州 10HP 1 1 261004600
36100460010HP 1 1 1

10HP 3610046011

10HP 1610046401 1snberh 10HP 1 261004640
10HP 1 1 1 361004640
10HP 361004641
12HP 1 1 161204600
12HP 1 261204600
12HP 1 1 3612046001

6 12HP 3612046011 1

Order no 12HP 1612046401 1 1
12HP 1 1 2612046401

12HP 1 1 1 361204640
12HP 1 1 3612046411

212



T46 Panel component
6U Panel component

瑞德科诺

RDEKONO
星6思

T46 Ofiset Handle orderinformationl
Width IPanel IPanel IIPanel EMC Gasket EMC textile gasket Black handle Grey handle Order no

Series Subrads4HP 1 1 1 160414630
4HP 1 1 1 260414630
4HP 1 1 1 360414630
4HP 1 1 1 360414631
4HP 1 1 1 160414640
4HP 1 1 1 260414640
4HP 1 1 1 360414640
4HP 1 1 1 360414641 mnofGuide rall5HP 1 1 1 160514630
5HP 1 1 260514630
5HP 1 1 1 360514630

sana snbrmh5HP 1 1 1 360514631 3615HP 1 1 1 160514640
5HP 2605146401 1
5HP 3605146401 1
5HP 360514641 DNS6HP 1 1 160614630
6HP 260614630
6HP 1 360614630 plug-inunits6HP 360614631
6HP 1 1 160614640
6HP 1 1 260614640
6HP 1 1 360614640

VERO6HP 1 1 360614641
7HP 1 1 1 160714630
7HP 1 1 260714630 Series Subracs7HP 1 1 1 360714630

3607146317HP 1 1
7HP 1 1 1 160714640
7HP 1 1 260714640
7HP 1 1 1 360714640 CASE7HP 1 1 1 360714641
8HP 160814600

debnsaas8HP 2608146001

TypeA8HP 3608146001 1
8HP 360814601
8HP 1608146401 1
8HP 1 065Sde panel260814640
8HP 1 1 360814640
8HP 360814641
10HP 1610146001 1
10HP 2610146001 相10HP 1 1 1 361014600
10HP 1 361014601
10HP 1 1 161014640 的的通1
10HP 1 1 261014640
10HP 1 1 361014640
10HP 361014641
12HP 1612146001 1 1
12HP 2612146001

12HP 1 1 1 361214600
12HP n1 361214601 oprm12HP 1 1 1 161214640
12HP 1 1 2612146401
12HP 3612146401 1 1
12HP 1 1 3612146411

213


